This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 13 - Cambuslang West

5,735

3

1,434

Stage 1

| Candidate Name | Affiliation | No. of Ballot Papers |
|---------------------|--|----------------------|
| John BRADLEY | Scottish National Party (SNP) | 1,382 |
| Tom Aylwin LAUCKNER | Scottish Greens - Think Global Act Local | 301 |
| Ann LE BLOND | Scottish Conservative and Unionist | 739 |
| Norman RAE | Scottish Liberal Democrats | 730 |
| Gillian SUTHERLAND | Scottish National Party (SNP) | 856 |
| Margaret WALKER | Scottish Labour Party | 1,727 |
| | Total | 5,735 |

Candidate Margaret WALKER Elected with 1,727 votes, being in excess of the quota of 1,434

This report contains the transfers results.

Stage 2 - Surplus of Margaret WALKER

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to John BRADLEY | 130 | 0.16965 | 22.05450 |
| Transfer to Tom Aylwin LAUCKNER | 155 | 0.16965 | 26.29575 |
| Transfer to Ann LE BLOND | 279 | 0.16965 | 47.33235 |
| Transfer to Norman RAE | 569 | 0.16965 | 96.53085 |
| Transfer to Gillian SUTHERLAND | 159 | 0.16965 | 26.97435 |
| | | | |
| No further preference | 435 | 0.16965 | 73.79775 |
| Not transferred due to rounding | | | 0.01445 |
| | Total | | 293.00000 |

This report contains the transfers results.

Stage 3 - Exclusion of Tom Aylwin LAUCKNER

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to John BRADLEY | 85 | 1.00000 | 85.00000 |
| Transfer to Ann LE BLOND | 11 | 1.00000 | 11.00000 |
| Transfer to Norman RAE | 51 | 1.00000 | 51.00000 |
| Transfer to Gillian SUTHERLAND | 114 | 1.00000 | 114.00000 |
| Transfer to John BRADLEY | 17 | 0.16965 | 2.88405 |
| Transfer to Ann LE BLOND | 5 | 0.16965 | 0.84825 |
| Transfer to Norman RAE | 76 | 0.16965 | 12.89340 |
| Transfer to Gillian SUTHERLAND | 21 | 0.16965 | 3.56265 |
| | | | |
| No further preference | 40 | 1.00000 | 40.00000 |
| No further preference | 36 | 0.16965 | 6.10740 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 327.29575 |

This report contains the transfers results.

Stage 4 - Surplus of John BRADLEY

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Norman RAE | 68 | 0.03883 | 2.64044 |
| Transfer to Gillian SUTHERLAND | 1,242 | 0.03883 | 48.22686 |
| Transfer to Norman RAE | 30 | 0.00658 | 0.19740 |
| Transfer to Gillian SUTHERLAND | 79 | 0.00658 | 0.51982 |
| | | | |
| No further preference | 139 | 0.03883 | 5.39737 |
| No further preference | 33 | 0.00658 | 0.21714 |
| Not transferred due to rounding | | | 0.00768 |
| | Total | | 57.93855 |

This report contains the transfers results.

Stage 5 - Exclusion of Ann LE BLOND

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Norman RAE | 487 | 1.00000 | 487.00000 |
| Transfer to Gillian SUTHERLAND | 16 | 1.00000 | 16.00000 |
| Transfer to Norman RAE | 213 | 0.16965 | 36.13545 |
| Transfer to Gillian SUTHERLAND | 6 | 0.16965 | 1.01790 |
| Transfer to Norman RAE | 6 | 0.03883 | 0.23298 |
| Transfer to Gillian SUTHERLAND | 4 | 0.03883 | 0.15532 |
| Transfer to Norman RAE | 3 | 0.00658 | 0.01974 |
| | | | |
| No further preference | 247 | 1.00000 | 247.00000 |
| No further preference | 65 | 0.16965 | 11.02725 |
| No further preference | 8 | 0.03883 | 0.31064 |
| No further preference | 2 | 0.00658 | 0.01316 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 798.91244 |

This report contains the transfers results.

Stage 6 - Exclusion of Gillian SUTHERLAND

1,066.45690

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Norman RAE | 358 | 1.00000 | 358.00000 |
| Transfer to Norman RAE | 70 | 0.16965 | 11.87550 |
| Transfer to Norman RAE | 403 | 0.03883 | 15.64849 |
| Transfer to Norman RAE | 37 | 0.00658 | 0.24346 |
| | | | |
| No further preference | 628 | 1.00000 | 628.00000 |
| No further preference | 116 | 0.16965 | 19.67940 |
| No further preference | 843 | 0.03883 | 32.73369 |
| No further preference | 42 | 0.00658 | 0.27636 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 1,066.45690 |

 $Report\ Name:\ Transfers_V0001_Ward-13---Cambuslang-West_06052022_174552.pdf\ Created:\ 06-5-2022\ 17:45:52-17:52-1$